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int [,] two_dim_array = new int[4,5];
.0'Tm 1w v two_dim_array :owa 7yn XD Mman
5 wni 4 XN DT N Y IURID TAMN LMNKR TAMI 19T TR W'Y U¥n  NIYAN/nN 012100 IN2 7'09
JITMy 5 niw a1 nnivw 4 7ud X, 0TI 7Y 721007 AN nouiwesn 0T

-1 X) N7'UNNNA D'I50NN 1'¥N DDA DNXY 1ND (NIVI'TINITZ) D50N AT *T' 7V AXI' DT YN XN ‘7D
(y-1x)nj ( i) 1
.NTINYN 1900 DX YN NNIYN 1900 NIK AX'N [IYXIN 19010

YN Dy 'YYY NNt Nnima ,NNTANND AT DY T 7Y RDL,77I0 vn? 0tN7Nnn 001y NN NNR T
RN 757 0w nnwn oy 5 77122 07w a10n "TM-TN 11Yn NNTANYT NNAIT NN NIDTH DYWY7 71 . TRm-Tn

int [ ] one_dim_array = new int[5] {2,4,6,8,10};
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one_dim_array[0] = 2 one_dim_array[1] =4 one_dim_array[2] =6 one_dim_array[3] =8
one_dim_array[4] = 10
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int [,] bob = new int[3,2] { {4,4},{4,4}{4,4} }
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bob[0,0] , bob[0,1] , bob[2,1]
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for(int i=0; i<2; ++i)
for(int j=0; j<3; ++j)
bobli,j] = 4;
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matrix[0,0] =0 matrix[3,3]=9 matrix[4,5]=20 matrix[9,8] = 72
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